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HHTA
UNIVERSITY OF NORTH BENGAL
B.A./B.Sc./B.Com. Honours/General Part-III Examination, 2022

ENVIRONMENTAL STUDIES

PAPER-ENVS (MIL)
Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.

1. Answer any five questions: 2x5=10

faferie @@ el et Te wies
FA dfageT yeFd! IR Age |
(a) Name any two biofuels.
Q-G 70 (eR-gieed 1 @121
$1 ggACT Slag=-dh] A ole]eq |
(b) Write full form of AIDS.
AIDS-&3 3725 9% F ¢

AIDS & JUeT oRege |

(c) Write any two biodiversity Hotspot regions in India.
SIA0SH -1 716 GI-(IM@) 2576 ST I (@731

ARAIYh! B gedcl viaiafaerdl Hotspot 3Red! M &8N |

(d) Write the names of Green House Gases.
A1 freferd w741

gRAE TIRIEwD] 11 IEIeN |

(e) Write down reasons of global warming
-SRI g (774
G IAYATHT HRUEH el |

(f) What are the main components of ecosystem?
AGOCE 2l Gt Fi Fi o
qIRT=hT g Tchew & & g ?

(g) What are the main sources of pesticide pollution?

FOAE G S TR 2 T[T FI 9
RTHIRIG ST UGHUTh] g Se & & g ?

(h) What are the different types of ecological pyramid?
e g ageifes PriNeel F F ot T @)
ecological pyramid @7 faf¥=T UoRe® & & g ?
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2. Answer any six questions:
foaferie @-iq =3fb 2o Tex nies

G BICT YD IR e |

(a) What is solar energy? Write down uses of solar energy. Name the non-
conventional sources of energy in India.

CTifE I I 9 Gieifea 929 1) ©ce T-2bfene =ifeq Seefem T @12
AR ISl & B ? AR ISPl YANTES & b G ? ARTANAT FEfofd STURFIRIT

Il SIAgwd] M oRegs N |

(b) Discuss the process of flow of energy in ecosystem.
qEOCE *& 2RIR -7 &S FF SNl 74|
UIRT=AT IS JaTE UOTTeAaR T T |

(c) Discuss the control measures of air pollution.

ARRel TR srafoefer Razel e
GIGIUD]  IHATHD] SUREHAR 2T T84 |

(d) What are the causes of population explosion in India?
OIS GFFINS’ Al SR Jw diReiele F o
ARTAYAT STHAE] [AWpIch] HREE & & T ?

(¢) What do you mean by Natural Disaster? What are the adverse effects of
earthquake?

2iFfoF R 6700 F @RI 9 SHRFT=7 T F 1 2o eoR 7T 9
IPHITHIATIGT Al @ 3 ? YAl THRIHD JEH & & T ?
(f) What is deforestation? What are the ways to conserve forests?

‘TR I SRR IO I @R 9 T WITHER G B D JIP AT FAU
ATE 9

AT @ BT ? IOl HRETTH] ARBIES & & T ?
(g) Write about Environment Protection Act, 1986.
“SbY’ AR AR T RZ THE @72
TITIROT HRETT U 1986 BT IRAT ole]a |
(h) Discuss the role of Family Welfare programmes in controlling Population.
‘AT ST 25 el TRl e AR FC O SEb 91
STHAEIT T URAR BT JIoHEwd]  HASER @ T4 |
(1) Write about Man-Wildlife conflict.
AE @R VAN TGS F2IE @141
A qRIGNT HEHaR oIE]a |
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Answer all the questions: (Choose the correct answer) 1x10=10
foaferfis el oo Tea wie: (3% Teafs v F9)

AP IR BIFR Ad YD IR A8 |

Which gas is mainly produced due to incomplete burning of wood?
FICoR Se TeraR Fee (RS (i T et 23 —

QTSR JEMhed] STeal AT fF TN I~ 76 7

(A) CO (B) NO, (C) SO, (D) NOs
BOD is a measure of —

(A) Non-biodegradable organic matter (B) Air pollution

(C) Industrial pollution (D) Biodegradable organic matter
BOD il #Afasil vl &1 —

(A) T-JGCaree (&7 swiedq sfams  (B) Aguzel

(C) IR Tfere 7ol (D) AT (& 2imiedd »ifasist
BOD & @I A9 & ?

(A) 3fSTgUEIS PIdf-Teh Taref (B) a1y UgyoT

(C) 3= ygmor (D) STa3aeIed HAfTdh gare

The wildlife Protection Act was enacted in —

I ! SN2 bie] 2raReT —

JIoIG ReT U 1 AT et & ?

(A) 1972 (B) 1974 (C) 1986 (D) 1984

The cause of Bhopal Gas Tragedy was —

(A) CFC (B) DDT (C) MIC (D) None of these
GG T TR Sy Wil SyAS foet —

(A) CFC (B) DDT (C) MIC (D) @02 w7
AT T AEID] BRUT B

(A) CFC (B) DDT (C) MIC (D) g1 Ul B8
The Taj Mahal at Agra may be damaged by —

(A) Sulphur Oxide (B) Nitrogen (C) Hydrogen (D) Oxygen
Wil orerze e [l o e —

(A) TEFREHIT  (B) MLGCE  (C) W2@ISH (D) w3
JMRT BT ASTHEAATS &l IS AT ded

(A) Sulphur Oxide (B) Nitrogen (C) Hydrogen (D) Oxygen
Which of the following is a non-renewable resource?

(A) Coal (B) forest (C) Water (D) Wildlife
e @D S-w9iFee) *fed B 9

(A) FT1 (B) =el (C) &1 (D) I
JADTHE Pl e TR ISl 51 Bl ?

(A) DI (B) ST (C) Ui (D) a=gsig
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(vii) What is the full form of CNG?
CNG-&3 3725 91 i ¢

CNG-®T JuieT &

(A) Compressed Natural Gas (B) Compound Natural Gas

(C) Compressed National Gas (D) Complex Natural Gas
(viii) Minamata Disease is caused by —

(A) Silicon poisoning (B) Mercury poisoning

(C) Arsenic poisoning (D) None of these

RSB @icsr ey ai —

(A) Pifermta Rt (B) ~iFwns Karers

(C) wiefaa Rareel (D) @2 w3

fAFTHTET IMTRT HIROT

(A) Silicon fauTaear (B) URT fauTaar

(C) Arsenic fauTaaar (D) g1 Ui BIg

(ix) The primary consumers are also called as —

(A) Herbivores (B) Carnivores  (C) Omnivores (D) Enzymes

2NAfF AMBTE T 2 —

(A) =i (B) RN (C) Res (D) ST
eI SUHTARITATS 3Th! g AT I ?

(A) TMBTERT (B) HIETERI

(OSELIN] (D) UTa® IAIA <l

(x) The first International Conference on Environment was held at —

(A) Rio-de-Janerio (B) Stockholm  (C) New Delhi (D) Johannesburg

A T el HEEfos Faer SePe 2R —

(A) Re-f-cafae (B) @™ (C) ema (D) CerRicmsf

T JRINGY TRV AT G STSHT HUDT ORI ?

(A) Rio-de-Janerio (B) Stockholm  (C) af faeel (D) SI=Ia
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